50kg
* b1 %

NBEETRSHFPR(ERER)

TTRN X e
BHMREFERE R

o Nl JE — BB
SEEEEIRENE)

2 B £ 7 K

NBEETRSHFPR(ERER)

I S .
BlRREEERENR)

i
=]
o m
gt

(BN HLER~—F A RK]

1 2 3
7 2-0
T-0=203, TF6-0=145]
28 7 2-0
2-0, 5-0]
1
B THB
0
44
2 7 2-0
42, 2-0]
& 0-2
0-1, 0-1
29
3
& 0-2

L
{18 0-1,0-61F=1:34

£ 1 %

NBEETIXSHFZRERR)




1 2 3 4
7 Ly - ® = F2P=1:23
iz
BRI ESEERE)I1R) T oo
4 r 2-0
4-0, TF7-0-056]
& I
IWMEEZR(EER)
30 r 2-0
3-0, 1-0=2:11
1k % st #* F1P=0:48
INEBETE£EE2R@EER) . Fe-0-04]
5
I
P EEFFERGEHR)
45 -, s
B\ W %z K
ERItEEERGEIIR)
B ot B @ 1 & F2P=0:20
J\IEE T % S S 2k (B R 1) 6-0=0:52, F4-0=0:20)
6
* E &8 H
T HEBREFERGEHR)
31
H-% “l *E j( F* F1P=1:09
MEHSEFRESE) F3-0=1.09]
7 & 0-2
X F#

01,13
X ER
SEREREFIRENR)



B & ©E
B REFFHRE R

=]

>|.
)m]&

= 1

THEFESFFRENR)

Sm

it = f&
FEESFFREINR)

IS — BB

1 2 3
F* F1P=0:51
F4-0=0:51
8 Ir 2-1
3-4, 5-1, 3-2|
32 #= F2P=1:08
[TF7-0, F4-0=1.08]
9
& F1P=0:13
0-4F=0:13

10 F= F2P=0:22

T TH
0

33

E—0=1 21, F3—0:0:22I

46

#r 2-0

=
VRS
NFEETRSHFPR(ERER) 51, 2-0]

¥ /S 1

H
AREFFREER)

11




f£ W M =

NBETIXSHFZRERR)

66kg 1 2 3
1t W £ E I~ F2P=1:22
JIEET XS EER(ZIEE) TF8-1, F8-2=1:22
12 Fr F1P=0:20
T F2-0-0:20)
Al H ;M E
FFREEZREIR)
34 = F1P=1:49
r 2-0
& A 7]
NREEZRESE) -1, 271
13
L H S
T HEBREFERGEHR)
47
o i na 1‘351 Fr TF2-0
TR A (1 B 1R) 0100, TrT-0-040)
14
7" £z #
EHEEEREEREHER)
35
X % IE #0
IIEETXSEEZR(ERR)
15 #F F2P=1:43

& 0-2

—_ o __
WIS FFER(EIIR) 0-6TF=0:58,0-5

TF=1:16, 0-4F=1:43




714kg

B B F W
SEEEEERE)IR)

R R
TE2EFFREMR)

w A F

NBEETRSHFPR(ERER)

X H & KX
B REFFRENR)

" ——
F7-0=0:34

I~ F1P=0:34

16" I~ 2-1
1-0, 0-1, 1-0

= F1P=0:31

F4-0=0:31

37

36" 7z 2-0
2-0, TF6-0=1:09

48

B #EH F
SEEEEERENR)

= TF2-0




A -

NBETIXSHFZRERR)

84kg 1 ’ ?
H £ Fii
NREEZRESE)
20
%2 0 = h #F FIP=1:14
Eg,
ZEESEFRENR) 0-3F=1:14
38 r 2-0
T-0-2.03, 2-0]
= 15 55[ & Fr TF2-0
J\BBE T 25 %24 (BB 8) 0-017, Tr6-0-059)
21 %FIPztosI
0-7F=1:08
X 7 X
EHNRSFEERGEHE)
49
= = @ m___T"
J\IEETESEER(ZER) 0028 TF7-0=1 &L
22
B W m &
MEHSEFRESE)
39
o H = #
T HEBREFERGEHR)
23 #F0-2
3-6, 2—4
s 7 B # 0-2TF

e ope sae 1L —
FNhREFFZR(F)IIR) F=0:38 0-6TF=0:42




96kg

. Heoi#

EtEEFEREER)

SEEEESLHR(E)R) 081048, 05

= X
TE2EFFREHMR)

33 =

FNFREFEZRENIR)

kA N #

NBEETRSHFPR(ERER)

24

25
& F1P=0:13
0-3F=0:13

40

& 0-2

——
0-5, 0-7TF=0:56

= F1P=0:27

—
F4-0=0:27

41

50

& F1P=1.06

3-4F=1:06

= % B
ENPREZLRER)



120kg 1 2
= & F1IP=1:23
B XK = B
IIEETXSEEZR(ERER) F6-0=1:23]
42 & 2-0

1-0, 3-0]

¥ A = &
IIBETRSEIRERR

BN Ok A B #r F1P=0:40
MHEHEFFRIESR) F3-0-0:40
26
% Ei‘; l\l%.\\ - EB
HEBBEPREHNR)
51
¥ A B th 7 F1P=0:49
" =]
NREELRESR) T o009
27
A & @B m
HEBEELREMD) 0
H Fﬁ EE& H§ 7 0-2
0-3=2:08, 0-1

A SR EER)




